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mulriple. choice B 16,18-25
Grade 7 Math Practice Midterm constructed response B ‘Jl)s) 10,))

1. Which number is divisible by both 6 and 97

a 115 c. 513 d. 615

2: What is the correct estimate of 3.1 + 4.8 if you are using front-end estimation?
b. 7.8 . 8 . d.87
3. Which two numbers are in the wrong location in the Venn Diagram?
Divisible by 4 Divisible by 6
a. 1Z2and 36
b. 24 and 72
c. 16and 18
d. 20and42
4. A large party pizza has 24 slices. How many friends would you invite to joinyou, if you
wanted to share two large pizzas equally? 7% Priende +Mov = Bpesple
Yg=g=0
m ¢ 9 d 1
& arother possible. answey -
5. Which fraction is equal to 0.257
2 25 25
6. Which multiplication equation is represented by the diagram?

a. 1.1x23=253

N % 2
b. 2.3x1.1=253 -y
c. 1.3x21=237 0% 2=
Cd 21x13=2.73) 0.01%

7 Which sum does this set of tiles model?

a. (-6) + (+3)=-9
(. (-6)+ (+3)=-3D

c. (-6) + (+3) = +3
d. (-6) + (+3) = +9 E:'E_IEJ




8. Which fraction would fit between % and 17 : : i ; I
2 _ 3 4 6 O _3_ & 1
d. E-O-\‘ bg'—'ﬂb c.g-{)% d's':i.’). 4"0.?5
9, What is the best W for the circumference of a circle with a radius of 6 cm? .
= 27T
a. 6 b. 18 c. 27 g
2 2(6)
= 30

10. Which relation produces the data in the table?

a. 2X
Term # % 1 2 3 4 5

b. 2x+3 gx_z
. Term 1 |4 |7 |10 |13

d 4x-4

sl 5,

2= a0 s SR
11 At the year-end soccer party, each player received two hotdogs and there were 4 hotdogs
left over. What an algebraic expression that would represent the total number of hotdogs at
the party?
a. p+2 b. 2p + 2 d. 4p+2 Zph
12 What expression represents the phrase, “six less than double a number?”

a. 2—6 c. 6-2n d. 6n-2 the

13. What is the value of 4k + 7 when k = 47

vl
a. 15 s 7 d. 51 qlf:‘,)r;

n n

22
14. Lex earns $2 for eachbox of catalogues he delivers and gets another $12 for delivering
flyers. If he receives a total of $36 for his pay, which equation allows you to determine how
many boxes he delivered? e
1A =
G 2B+12=36) c. 12B+2=36 2% =36
b. b. 2B-36=12 d. 12B-36=2
input | Output
15. Which ordered list represents the output values for the table below? i Sn-1
a. 0,1,23 - ~
b. 4,9,14,19 ; 5(‘”“5“ lL_'q
c. 5432 > 5(2)-! = °S i
d. 5 10,15 20 5(3)-1 7!
4 Ig4y-y=po-1 =19

16. A pack of pencils cost $1.99. Sales tax is 13%. How much tax is added to the cost of the
pencils?

a. $0.13 c. $0.39 d. $0.93

Tox s 13% oF #1.99
0.13 %149

0.258%

o

Towx

it



551 2 x3.0 +4:2 £2.)
LR T el 4.2 42x3.0
) ¥ 3 W2=2.)
M1 S 12.6 2.6 4.2 2.
ok 12.6 +1 2.0
9. 6 12.6 + 2
17. What is the solution to 4.2 x 3.0 + 4.2 + 2,17 M.e
a 8 c. 168 d. 18
18. If the radius of a circle is 4cm, what is the diameter? d=ux2=¢%
a. 1.27cm b. 2 cm d. 12.56 cm
19, What is the circumference of a circle that has diameter 10cm? 0- wd
a. 15.7 cm c. 78.5cm d. 314 = (34Y(10)
=3.4
20.  What would be a correct estimate for the area of a circle with diameter 8m2yy. gs5 - vy
a. 12me? b. 24 m? d. 192 m? Acirle = rxexr
= (3D
21 What is the area of the given parallelogram? = Y Qe
a. 5cm?
A pavaliclograrn = OO = .
b _32cm) TP Jam (gY4) 5em
c. 40cm? " 4 cm =h
d. 120 cm? *32em e E
4
8cm=b
22.  Ifacircle has a circumference of 20 cm, what is its area? 0 :
d=$ =20, . (3 ree3i2
' = 3.1¢
a. 6.4cm b. 10 cm c. 12 cm Appde = frxe 4y
23.MY 23D
23 What is the area of the circle with diameter 22cm? : 3).35em?
Ac'src‘c :T}xrxr ‘F:‘Z?.":Z :\\ '
@MUY a 3454cm? b 69.08cme (& 379.94 cmd)d. 1519.76 cm?
= 319 Mem®
24. If a parallelogram has an area of 64 cm? and height 4 cm, what is its length?

b. 68 cm c. 136 cm d. 256 cm

Z8.

a

c
d.

What is the area of the following triangle?

bem 5cm

7.5 cm?
3 cm

18 cm? [

24 cm?

8cm

A'\'\'i&!’g\e: bb o (C?’}_(i\_
o a }

o

<64

1o e

Len3+h: Areo = hmﬂhi‘
1y



Constructed Response. Answer all questions in the space provided.

1. Bobby buys a pizza with a radius of 20 cm. If he cuts it into 8 equal pieces, what is the area
of each slice?
T Avea of each glice
P (3 )a0(20) 1256 +¢ = [ Stenf
= 1256em?
gL A dog is leashed on a chain that is 10 m long connected to a peg in the ground. The owner

wants to build a circular fence around the dog that has a radius 1 m longer than the leash.

A. What is the length“og the fence?

tadivsof fence = JO+) = 1Im 10 m

A 12 {22m)

Lergth (CircomPerence) = wd = (3a4X22) = (9.08m

B. What is the area of grass between the fence and the end of the leash?

Area of grass

A = 'D"X rXr
leash between Hhe

A
% \ = 'ﬁ-xf Xf
blg Ciroe = (3.4 )10X10)

Yz (210 Sence andt té
= 330U = 3Mm* ek el ki
L leash
31994-3Y
, :‘(DS ay mz‘i
3. Sketch algebra tiles to solve each equation.
A) x+4=12 B) 3m+2=11
oooo
c:—_‘laumw 9%9 oD o
- e
— nQauope /0 bo
coed —3 /o oo
I a G D

m=3=



4, Marcus bought 4 CDs for $6 each and sold 5 CDs for $5 each.

A) Write an equation to find Marcus’ overall earnings or losses.

OO ) TR F SES YS S + S

(_" a‘-\\ + 38 = 14
B) Solve the equation. State your final answer.

Marcus' overal
earning is §4A.

5. Sam took $120 to the mall to buy hair products. She wants to purchase shampoo for $7,
hair spray for $12, styling products for $25, and a curling iron for $45. Sales tax is 13%.

Does Sam have enough money to buy all the hair products? Support your answer with
workings.

Total Cock = T 412 +254456 = 4
TOQ‘w \B@oo? {9 = 6. '3 % 89 = 53

Total Cost with Tox = @4 + 1151 = #0053, 5o yes Samn has

ehouah +0 bu& all
Hhe hoir produd-s :

6. Evaluate:
A. (=2) — (-5) (model) B. (—3) + (=7) (model)
"\:-] PEE ‘ (-2) -(-3) BER —
-ﬁam -2) +(x8)=D fEEaeeRR £
P c10) =3 0
(2)-(9)=4 e Y CIWEDO, (imyreays 10
-2 -1 O 2 @
C.5-12 ~ D.(=3) = (=4) + (=5)
T ¢ (-12) = (-3} +(+4) + (-8)
R

C+1) + (-8)
L



LT
Dol

%o
L
y “l=t 38 Y
7. (Evaluate: es*=}§3
A.1.2%x3.2  (model) B.54,+ 094 = Q’
h( __3___ =2} 300 _,L
O\x_8_=0'80 Q)'%L\q
e=ee 00ix 0. 0Y —
. of-
3.84

5=

e E:ﬂ'[:jpo

C.45—237 D.\_3._1 + 08+ 4.25 ,
L\.q%‘o '3, \g %
+2.34 0.
2.3 +4.25
: 2 .15
8. Evaluate: 32+14x02-21+07 [R)
L4 3.2+ 0.2%-2.1730.3 3.26
®
¥0.2 2 3008~ 3 s $0.2 %
3 e 3.4 8
0. 3Mg -3
1503y 0M8 E\?) 20
i O
-2.1
2t C 1 .95

9, Place in the correct order: 3.1,3.01,3.1,35 ¥'%e
2. 10 _ 4
=S leask fo greatect * 301, 3.1, 3.1,3Y
8,28

10. Of the 450 students in Grade 7 and 8, 45% like the colour purple. How many like purple?

4G9 oF W50
+ 203 s \
200.% Porpke
11 Johnny had 16 out of 23 marks on his Math test. What percent did he get?

\
-(9'3—> b:23 = 0.6356...

= 309



